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Teams for day 1

e These will be created by combining the scores from the three archers from the

o Z(\)Alljanrtc}; will be given for the teams by bow style and division (i.e. recurve men
team).

Teams for day 2

e Teams will be split into tiers as follows, no team changes or swaps will be permitted
(for incomplete pairs teams please see Note 1 at the end of the document):

Tier 1 — Top scoring man and woman from the 70m/50m round on Saturday
Tier 2 — 2nd Place man and woman from the 70m/50m round on Saturday
Tier 3 — 3rd Place man and woman from the 70m/50m round on Saturday

e Seedings for the pairs team head-to-heads will be decided by the Sunday
qualification round.

e Awards will be presented for the top 3 placed pairs teams in Tier 1 only.

e Overall results will be calculated as follows, using the top two tiers and the 3rd tier
as a tie-break.

e Men's team ranking position + women's team ranking position + pairs team (Tier 1)
position + pairs team (Tier 2) position.

i.e.

e 1st place at the end of Saturday for both teams, 1st Place at the end of Sunday in
tier 1 and 1st place in tier 2 = 4 points, and so would be in 1st overall.

e |If atotal combined score is tied, then Tier 3 position would be used to break the tie.

Single entries

e Counties can enter a single person into the competition to create a pairs team for
the Sunday. The individual archer will shoot the qualification round on the Saturday
but will not take part in the team head-to-heads. The archer will then shoot in the

qualification and matches on the Sunday with the archer from the same county.

¢ Single entry fee - £50
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Note 1 - Incomplete pairs teams
e For pairs teams where it is not possible to field a pairs team in Tier 1:

e The top scoring athlete and bottom scoring athlete from the single gender team
(i.e. compound men) would be paired and placed into Tier 2.

e The middle scoring athlete would be placed into Tier 1, and in their first match will
shoot all 4 arrows. At the end of the match, they will, if they win, take the correct
opposing team’s member forward for future rounds.

Example:
COUNTY A men’s compound

Athlete A 678
Athlete B 654
Athlete C 632

Athlete A+C in Tier 2, Athlete B in tier 1

COUNTY A Vs County B—Tier 1

Athlete B (shooting all 4 arrows every end) scores a total 114 - County B scores 113.
County A take the women’s compound of County B into their paris team for future
matches.

At the end of the head-to-head, the final ranking points from Tier 1 for COUNTY A and
COUNTY B will be whatever the finishing position of the combined pairs team will be as
they have both contributed.
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